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Q 1: A weightlifter after competition, drinks 500 ml of 9% glucose (mol. wt. = 180) solution. The numbers of glucose molecules taken by him are 

	a)
[image: image2.png]45x10%3




b)
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c)
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d)
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	Q 2: How many H-atoms are present in 0.046 g of ethanol ?

	a)
[image: image6.png]6x1020




b)
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c)
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d)
[image: image9.png]36x1021






	Q 3: Which is larger quantity ?

	a)
Mega

b)
Femto

c)
Milli

d)
Giga



	Q 4: The specific heat of a metal is 0.16. Its approximate atomic mass would be 

	a)
32

b)
16

c)
40

d)
64



	Q 5: Vapour density of a gas is 40. Its specific heats at constant pressure and volume are 0.115 and 0.082 respectively. The atomic mass of the gas is 

	a)
40

b)
20

c)
80

d)
None



	Q 6: A gas mixture contains 50% helium and 50% methane by volume. The mass percentage of CH4 in the mixture is 

	a)
19.97%

b)
20.05%

c)
45%

d)
80%



	Q 7: If C1, C2, C3,….. represent the speeds of n1, n2, n3,….. molecules, then the root mean square speed is 

	a)
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d)
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	Q 8: In a compound, atoms of element Y form ccp lattice and those of element X occupy 2/3rd of tetrahedral voids. The formula of the compound will be 

	a)
X3Y4
b)
X4Y3
c)
X2Y3
d)
X2Y



	Q 9: Which of the following is correct ?

	a)
Schottky defect lowers the density of the crystal.

b)
Frenkel defect increases the dielectric constant of the crystals

c)
Stoichiometric defect make the crystal good electrical conductors

d)
All of these



	Q 10: Uncertainly in the position of an electron [image: image14.png]1x107 kg




moving with a velocity [image: image15.png]300 ms™t



, accurate upto 0.001% will be :

	a)
[image: image16.png]192x1072m




b)
[image: image17.png]567x107%m




c)
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d)
[image: image19.png]384x107%m






	Q 11: The boiling point of ICl is nearly 40oC greater than that of Br2 although both these substances have nearly same molecular mass. This is because 

	a)
ICl is an unsymmetrical molecule

b)
I-Cl bond is stronger than Br-Br bond

c)
ICl is a polar molecule

d)
of inert pair effect.



	Q 12: The species having bond order different from that in CO is 

	a)
[image: image20.png]



b)
NO+
c)
[image: image21.png]



d)
N2


	Q 13: Demulsification can be brought by which of following methods 
(i) by addition of a substance which would destroy the emulsifier 
(ii) by chemical destruction of the emulsifier charge 
(iii) by boiling 

	a)
i, ii

b)
i, ii, iii

c)
ii and iii

d)
ii only



	Q 14: Which is correct in case of van der Waal's adsorption? 

	a)
High temp., low pressure

b)
Low temp., high pressure

c)
Low temp., low pressure

d)
High temp., high pressure



	Q 15:  The following question contains two statements. Choose one of the options below: 
Statement - 1 : A colloidal sol of Al(OH)3 is more readily coagulated by 0.1 M NaCl than by 0.1 M Na2SO4.
Statement - 2 : The coagulating power of an electrolyte is related to the valency of the active ions. 

	a)
Statement-1 is True, Statement -2 is true, Statement - 2 is a correct explanation for Statement -1

b)
Statement -1 is True, Statement -2 is true, Statement-2 is not a correct explanation for Statement-1

c)
Statement-1 is True, Statement-2 is False

d)
Statement-1 is False, Statement-2 is True



	Q 16: An example of neutral oxide is 

	a)
NO

b)
CO2
c)
CaO

d)
ZnO



	Q 17: The oxide of an element with electronic configuration   [image: image22.png]152 2522p83523p3



 is 

	a)
Acidic

b)
Basic

c)
Neutral

d)
Amphoteric



	Q 18: Variable valency is exhibited by 

	a)
F

b)
Na

c)
Fe

d)
Ne



	Q 19: Identify the reaction that does not take place during the smelting process of copper extraction 

	a)
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b)
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c)
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d)
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	Q 20: Alkali metals have high negative reduction potential. Hence they behave as:

	a)
oxidising agents

b)
Lewis bases

c)
reducing agents

d)
electrolytes



	Q 21: Which halogen acid exists in diametric form even in the gaseous state ?

	a)
Hydrogen chloride

b)
Hydrogen fluoride

c)
Hydrogen bromide

d)
Hydrogen iodide



	Q 22: The correct decreasing order of basicity (of hydroxides) of ions is 

	a)
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b)
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c)
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d)
None of the above



	Q 23: Which of the following is a correct Irving Williams order ?

	a)
Mn2+ < Fe2+ < Co2+ < Ni2+
b)
Ni2+ < Co2+ < Fe2+< Mn2+
c)
Fe2+ < Mn2+ < Ni2+< Co2+
d)
Co2+ < Mn2+ < Fe2+< Ni2+


	Q 24: Measurement of rate of oxygen consumed by a unit volume of water over a period of time is to measure

	a)
Fermentation

b)
Biogas generation

c)
biosynthetic pathway

d)
Biological oxygen demand



	Q 25: 'Los Angeles' smog is :

	a)
Photochemical smog

b)
Sulphurous smog

c)
Industrial smog

d)
All the above



	Q 26: The formation of purple colour with Na​2[Fe(CN)5NO] indicates the presence of

	a)
nitrogen

b)
sulphur

c)
halogens

d)
both N and S



	Q 27: An organic compound on analysis give C = 54.5%, O = 36.4% and H = 9.1% by mass. Its empirical formula is :

	a)
CH2O

b)
CHO2
c)
C2H4O

d)
C3H4O



	Q 28: The Diels-Alder reaction between cyclohexa-1, 3-diene and acrylonitrile gives the adduct (1). The IUPAC name of A is :

	a)
Bicyclo (222)oct-5-en-2-cyanide

b)
Bicyclo (222)oct-5-en-2-nitrile

c)
Bicyclo (222)oct-2-en-5-nitrile

d)
3 Cyanobicyclo (222)oct-5-ene



	Q 29: IUPAC name of [image: image30.png]


is

	a)
Pent-1-en-3-yne

b)
Pent-4-en-2-yne

c)
Pent-3-yn-1-ene

d)
None



	Q 30: Among the following compounds, the strongest acid is 

	a)
[image: image31.png]



b)
[image: image32.png]



c)
[image: image33.png]



d)
[image: image34.png]CH,0H






	Q 31: Which of the following is not compatible with arenes ?

	a)
Greater stability

b)
Resonance

c)
Electrophilic addition

d)
Delocalisation of [image: image35.png]= electrons






	Q 32: The reaction of toluene with chlorine in presence of ferric chloride gives predominantly :

	a)
benzoyl chloride

b)
m-chlorotoluene

c)
benzyl chloride

d)
o- and p-chlorotoluene



	Q 33: The rate of esterification of alcohols is more for 

	a)
CH3OH

b)
C2H5OH

c)
(CH3)2CHOH

d)
(CH3)3COH



	Q 34: Consider [image: image36.png]


bond lengths in the following cases : 
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Which order is correct?

	a)
a < b < c < d

b)
a = c < b = d

c)
a < c = d < b

d)
b < c = d < a



	Q 35: For the addition reactions with HCN and NaHSO3, CH3CHO is more reactive than 
A. HCHO
B. CH3COCH3
C. [image: image38.png]o




D. C2H5COC2H5

	a)
B, C and D only

b)
A, B and C only

c)
A and C only

d)
B and C only



	Q 36: Pyroligeneous acid contains ______ percent acetic acid 

	a)
0

b)
10

c)
15

d)
20



	Q 37: Which of the following is oxidised to the corresponding carbonyl compound?

	a)
2-Hydroxypropane

b)
o-Nitrophenol

c)
Phenol

d)
2-Methyl-2-hydroxypropane



	Q 38: High basically of Me2NH relative to Me3N is attributed to :

	a)
effect of solvent

b)
inductive effect of Me

c)
shape of Me2NH

d)
shape of Me3N



	Q 39: Identify the incorrect product in the following reaction sequences :

	a)
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b)
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c)
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d)
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	Q 40: The vulcanized rubber has 

	a)
high water absorption, resistant to oxidation and good elasticity

b)
high water absorption, susceptible to oxidation and no elasticity

c)
high water absorption, susceptible to oxidation and good elasticity

d)
low water absorption, resistance to oxidation and good elasticity



	Q 41: [image: image43.png]o andp



 glucose differ in the orientation of [image: image44.png]—OH



group around 

	a)
C1
b)
C2
c)
C3
d)
C4


	Q 42: Glucose and Mannose are 

	a)
optical isomers

b)
anomers

c)
epimers

d)
none



	Q 43: Which of the following is a bactericidal antibiotic?

	a)
Erythromycin

b)
Tetracycline

c)
Chloroamphenicol

d)
Ofloxacin



	Q 44: Which aldehyde can give iodoform on reaction with I2 and NaOH?

	a)
Formaldehyde

b)
Acetaldehyde

c)
Propionaldehyde

d)
Benzaldehyde



	Q 45: If the molecular formula of an anhydrous acid is H2C2O4 and the molecular mass of the hydrated acid is 126. The number of water molecules present in the hydrated acid is 

	a)
2

b)
3

c)
6

d)
4



	Q 46: [image: image45.png]Pbo, - PbQ 4G2%8 <0
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Most probable oxidation state of Pb and Sn will be 

	a)
Pb4+, Sn4+
b)
Pb4+, Sn2+
c)
Pb2+, Sn2+
d)
Pb2+, Sn4+


	Q 47: The vapour pressure of two liquids P and Q are 80 and 60 torr respectively. The total vapour pressure of solution obtained by mixing 3 mole of P and 2 mol of Q would be 

	a)
72 torr

b)
140 torr

c)
68 torr

d)
20 torr



	Q 48: For reaction :
[image: image47.png]2NOCH{g) — 2NO(g) +Cly(a)



, Kc at 427oC is [image: image48.png]3x1078 Lmol™ 1



. The value of Kp is nearly

	a)
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b)
[image: image50.png]250x107°




c)
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d)
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	Q 49: [image: image53.png]5



 for [image: image54.png]Hgs0,



is [image: image55.png]6.4x 105



. The solubility of the salt is : 

	a)
[image: image56.png]gx 10




b)
[image: image57.png]gx 103




c)
[image: image58.png]4.6 x10°5




d)
none of these



	Q 50: Specific conductance of 0.01 N-KCl solution is x ohm-1 cm-1 having conductance y ohm-1. Specific conductance of 0.01 N - NaCl having conductance z ohm-1is 

	a)
xy / z

b)
xz / y

c)
z / xy

d)
none
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